


3   5    7    2
9    6    3+



3   5    7    2
9    6    3+



3   5    7    2
0   9    6    3+



3   5    7    2
0    9    6   3+

4   5   3   5



3 5  7  8
9 6 1

Recap Subtraction

-

-



3 5  7  8
9 6  1  -

3   5    7   8
0   9    6   1

2    6     1    7



1. 531 + 2611 = 
2. 4233 + 9153 = 
3. 3855 - 243 = 
4. 9447 - 637 = 
5. 8374 - 533 = 
6. 5831 + 451 = 
7 3783 + 977 = 
8. 2391 - 625 = 
9. 4637 + 2727 = 
10. 56922 - 985 = 

1. 38201 + 9973 =  
2. 293 + 76573 = 
3. 9753 - 9432 = 
4. 39472 - 3973 = 
5. 66249 + 77038 = 
6. 1839374 - 32922 = 
7. 165445 - 29037 = 
8. 9909 + 320922 = 
9. 97865+ 378949 = 
10. 282250 - 2342 = 

A B



1. 531 + 2611 = 3142
2. 4233 + 9153 = 13386
3. 3855 - 243 = 3512 
4. 9447 - 637 = 8810
5. 8374 - 533 = 7841
6. 5831 + 451 = 6282
7. 3783 + 977 = 4760
8. 2391 - 625 = 1766
9. 4637 + 2727 = 7364
10. 56922 - 985 = 55,937

1. 38201 + 9973 = 48174
2. 293 + 76573 = 76866
3. 9753 - 9432 = 321
4. 39472 - 3973 = 35499
5. 66249 + 77038 = 143287
6. 1839374 - 32922 = 1806452
7. 165445 - 29037 = 136,408
8. 9909 + 320922 = 330831
9. 97865+ 378949 = 476814
10. 282250 - 2342 = 279908

A
B
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1
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Answers:

1. 1/2

2. 1/3

3. 1/2

4. 1/4

5. 1/8

6. 1/5

7. 1/5

8. 1/2





Core

Answers:

1. 6/15

2. 2/6

3. 30/48

4. 15/21

5. 6/10







x 3

x 3



Depth

x 3

x 3

12



Depth

x 2

x 212



x 2

x 212

18





6 9

20
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Arithmetic
WEDNESDAY 21ST

OCTOBER 2020



8034 + 98

8  0   3   4 
9   8

8   1   3    2
1   1

Th H     T    
O

+

Align the digits so 
that they are in the 
correct column and 
place value. 

4 + 8 = 12

= 1 ten and 2 ones. 

You cannot place the 1 
tens in the ones column! 
So you must regroup it 
with the tens. (exchange) 

Next we add the tens 
column. 

3 tens + 9 tens + 1 
tens(regrouped earlier) 
= 13 tens. 

This is the same as 1 
hundred and 3 tens. 
We can’t place the 1 
hundred in the tens 
column! So we must 
regroup it with the 
hundreds. 



5 6 4
3 6

5   6    4
3   6

Tth Th H        T     O

x

First, we must 
multiply all of our 
top row by the 
number in the 
‘ones’ column. 

6 x 4= 24
6 x 6= 36
6 x 5 = 30

3   3     8     4
1     6    9      2    0

2     0 3      0    4 

6 x 4 = 24

= 2 tens and 4 ones. 

You cannot place the 2 
tens in the ones column! 
So you must regroup it 
with the tens. (exchange) 

Next, we must multiply 
all of our top row by 
the number in the 
‘tens’ column. 

30 x 4 = 120
30 x 60 = 1800
30 x 500 = 1500

233

111

111

When multiplying by ‘tens’ we 
need to insert a place holder ‘0’ 
because we aren’t multiplying 3 
by 4. We are actually multiplying 
30 by 4!











Answers











6

9



6    3=

9     3=



6    3 =  2

9    3  = 3











6          6=    1

18        6=    3



1.                   2.              3.



1.                      2.                  3.

5/9 2/3 3/10



Lisa completes 4/10  of her science 
project.
Write down how much she has left to 
complete in its simplest form!



Lisa completes 4/10  of her 
science project.
Write down how much she has 
left to complete in its simplest 
form!



Lisa completes 4/10  of her science 
project.
Write down how much she has left to 
complete in its simplest form!

.





Answers:

1. 1/4

2. 1/2

3. 1/7

4. 1/4

5. 1/5

6. 1/5

7. 1/5





Answers:

1. 1/10

2. 1/9

3. 11/12

4. 3/7

5. 5/12

6. 9/10





1/4





15/20 left to complete.

3/4 simplest form.





a)     10/25 = 2/5

b)      15/25= 3/5





12/30 completed 

2/5 completed

18/30 left to 

complete which 

is 3/5 









Tommy has divided the numerator by the 

common factor of 6, but then he has just 

subtracted the common factor of 6 from the 

denominator

Correction: 1/ 5









1.





2. .



2. .



3. .



3. .



4.  .



4.  .



5. 



5. 



6. 



6. 



7. 



7. 



8. 



8. 



9. 



9. 



10. 



10. 


